M10 - 4.1 - Entire to Mixed Radicals HW

Simplify
2 18 =
Y12 =
50 = V20x2 = V63
2 —
V27x3 = V8=
Y125x5 =
3/32 = V243 = V30125 =
2 —
2 (7257 = V108 = 2200 =
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M10 - 4.1 - Cube Entire to Mixed Radicals HW

Simplify

V24 = V54 = /250 =
3740 = V189 = 1686 =
V48 = V162 = 3112 =
Vi6 = V-81= V625 =
Y128 = V2187 = ¥=50625 =
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M10 - 4.2 - Mixed to Entire Radicals HW

Simplify
532 =
2 3%/2:
233 =
43/5 = 23/7 = 732
2 —
1033 = 337 = 1135 =
437 = 73/6 =
V7 83/5 =
4311 = 5311 = 1%/30125 =
2 —
2255 53/1000 = 737 =

Exp Rad Page 3



M10 - 4.2 - Cube Root Mixed to Entire Radicals HW

Simplify

2V2 = 335 = 733 =

218 = 736 = 13/686 =
2348 = 312 = 512 =
11¥/6 = 2¥V11 = —5%/6 =
2318 = 332187 = 10350625 =
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M10 - 4.3 - Mult/Add Div/Divide Exponent Laws HW

Werite each product of powers as a single power.

X2 % 32 = 242 = 34 3 Xyt = 22532 —
z3x 7% = m3 xm* = ntxn? =
22 % 43 = (2x)? x (2x)3= (By)?*x (2y)*=

Write each quotient of repeated multiplication division statement in faction form then simplify as a single power.

XX XX XX
x*+x% = = x° 3. ,2 2 .02 —
Xt =Xt = yr=y =

(3x)° + (3x)% = (2x)8 = (2x)3 = (2x)® + (2x)7 =

Write each quotient of powers as a single power.

2 _ m*+=m3 =

~g" = (—22)% + (~2x)° = (—42)" = (—40)" =

Write each quotient of powers as a single power.

x> y: (=30)*
X2 y (—3x)%
m> b_3 _ (—=7x)° _
m2 b? (=7x)%
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M10 - 4.3 - Distribution Exponent Laws HW

Write the following as a single power.

(x3)2 — x3><2 — x6 (xz)g -

(2z%)° = (3x3)* =

Write as a multiplication of two powers.

[7 x x]? = 7?x% = 49x? [5 % y]2 =
[7 x b]? = [2x x 3x]? =
[7x]2 = [3xy]?

Distribute the power.

6) - &)

5 2
24x _ Sxy 2
(-
35y2
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()2 =

(x—l)z —

[m x n)?

[3x x 2y]?

[5x°] =

180x2\°
6x



M10 - 4.4 - Negative Exponents HW

Write with positive exponents

1 1
x = X = 3 x~t
x—Z = x_3 = x—Z = x_z -
Zx—z — 2_3x — 2_3x_2 —
1 L _ L
= 2-35 273x72
2x72
5 5 _
2y —2 = 2-3x=2 "
x? x~?
y3 = y3
4 —
2x2 2 _
4x-2
Write with negative exponents
3 {3 = 1 12
X = X 2x3

6x3
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M10 - 4.5 - Fraction Exponents HW

Change from radical/root form to exponential form.

a0 7 - V6=

Change from exponential form to radical/root form. Simplify if possible.

3 3

2
(=5)3 = o3) =

(-5)7 =

Simplify by exponents laws. Answer in root form.

1 1 1 1
33x32= 52 X 54 =
1
62 = 67 = 28
1=
2
2 K 3
(53)" = (72) =
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